A BILL FOR AN ORDINANCE AUTHORIZING) AND DIRECTING THE MAYOR AND THE) RECORDER TO ENTER INTO A CONTRACT FOR) THE CONSTRUCTION OF LATERAL SEWERS IN) VAUGHAN LANE ACRES, AND DECLARING AN) EMERGENCY. ORDINANCE BILL NO. 28 for 1973 ORDINANCE NO. 14-89

THE PEOPLE OF THE CITY OF LEBANON DO ORDAIN AS FOLLOWS:

<u>Section 1.</u> That the Mayor and the Recorder of the City of Lebanon are hereby authorized and directed to enter into a Contract with <u>Larry Van Over Construction</u> for the construction of lateral sewers in Vaughan Lane acres, and to obligate the City of Lebanon for the payment of \$ 92,380.00 for said sewer improvements, and that the Contract shall refer to the plans and specifications heretofore filed by the City Engineer and approved by the Council, and shall be in the following form, to-wit:

Les Contract Documente

<u>Section 2.</u> That inasmuch as this Contract and the Construction of said lateral sewers is necessary for the peace, health and safety of the City of Lebanon, an emergency is hereby declared to exist and this ^Ordinance shall be in full force and effect immediately upon its passage by the Council and approval by the Mayor.

国民人物につ同国

Passed by the Council and approved by the Mayor this 21st day of August, 1973.

Richard Henn

ATTEST:

Hund Thowy

Recorder

Sept. 25, 1973

.

L.D. VANOVER, INC.

I

Pay # 1	VAUGHN LANE		
12" line O	+00 to 3+25 <u>10</u> F	PROPOSAL A	
Class C	TRENCH EXCAVATION AN	ND BACKFILL	
18-20	255.10:Lin. Ft.	@ \$18.00	\$ 4,591.80
Class D	Trench Excavation ar	nd Backfill	
20– 22	70.00 Lin. Ft.	@ \$30.00	2,100.00
MANHOLE CO	NSTRUCT ION		
Standard M	anholes		
0-6 Ft.	2	@ \$500.00	1,000.00
Add Standa	rd Manhole		
Depth	27 Lin. Ft.	@ \$ 50.00	1,350.00
GRAVITY SE			
12" Extra	10		
		@ \$ 22 . 50	7,314.75
12" Line	3+25 <u>10</u> to 6+48 ³		
Class C	•		
14-16	223.3 Lin. Ft.	@ \$5.00	1,116.50
16-18	75.0 Lin. Ft.	© \$8.00	600.00
18-20	24.9 Lin. Ft.	@ \$10.00	249.00
MANHOLE CO	NSTRUCTION		
Standard M	anhole		
0-6 Ft.	I.	@ \$500.00	500.00
ADD Depth	Standard Manhole		
8 Ft.		@ \$ 50.00	400.00
PIPE STUBO	UTS FOR FUTURE LAT.	CONN.	
8"	2	@ \$ 85.00	170.00
12"	1	@ \$100.00	100.00
GRAVITY SE	WER PIPE_		
12" Extra	Strength		
323,2	Lin. Ft.	@ \$13.00	4,201.60



PAGE 2

L.D. VANOVER, INC.

PAY # I VAUGHN LANE

Concrete Tee fittings 0+00 to $6 + 48\frac{3}{2}$ 12 X 6 7 \$ 50.00

\$ 350.00 \$ 24,043.65 Less 10% Retainage 2,404.37 TOTAL PAYABLE \$ 21,639.28

This pay does not represent Final Acceptance of Work Completed.

/ ~

Jim Udell, Ass't. City Engineer

PIPE STUBOUTS FO	R FUTURE LATERAL CONNEC	CT IONS		
8" 2"	6 I	@ \$ 85.00 @ \$100.00	\$ \$	510.00 100.00
GRAVITY SEWER PI	<u>PE</u>			
8" 12" CLASS 4	1934.00 324	@ \$ 10.00 @ \$ 13.00	\$	19,340.00 4,212.00
CONCRETE_TEES				
8X4 12X6	27 7	@ \$ 40.00 @ \$ 50.00		1,080.00 350.00
SEWER SERVICE CON	NNECT IONS			
TRENCH EXCAVATION	N & BACKFILL	· · · · · · · · · · · · · · · · · · ·		
CLASS C	1357	@ \$ 3.00		4,071.00
SERVICE CONNECTION	ON PIPE			
4" 6"	1079.00 378.00	@ \$ 6.50 @ \$ 8.25	\$	7,013.50 3,118.50
SURFACE RESTORAT		e t c 0 0		125.00
3/4" Minus	25	@ \$ 5.00		
			<u>\$</u>	55,147.40
•		TOTAL \$18,063.18 + \$55,147.40	\$	73,210.58
		PREVIOUS PAY	<u> </u>	21,639.28
			¢	51 571 30

FINAL PAY

\$ 51,571.30

.v.

¥ 1-1

Oct. 23, 1973

L.D. VANOVER, INC.

<u>FINAL PAY - VAUGHN LA</u>	NE			
ALTERNATE "A"				
TRENCH EXCAVATION & B	ACKFILL			
CLASS C				
18-20 Ft.	255.10 Lin. Ft.	@ \$18.00	\$	4,591.80
CLASS D				
20-22 Ft.	73.65 Lin. Ft.	@ \$30.00		2,209.50
MANHOLE CONSTRUCTION				
STANDARD MANHOLES				
O-6 Ft. ADD STANDARD MANHOLE	2	@\$500.00		1,000.00
РЕРТН	27,3	@ \$50,00		1,365.00
GRAVITY SEWER PIPE				
12" CLASS		· ·		
CONNECT TO EXISTING	328.75	@ \$22.50		7,396.88 1,500.00
TOTAL ALTERNATE A	· · ·		<u>\$</u>	18,063.18
		•		
TRENCH EXCAVATION & B	ACKFILL			
TRENCH EXCAVATION & B	ACKFILL			
CLASS C O-6	296.0	@ \$ 2.50	\$	740.00
CLASS C O-6 6-8	296.0 566.10	@ \$ 3.00	\$	1,698.30
CLASS C 0-6 6-8 8-10	296.0 566.10 158.60	@ \$ 3.00 @ \$ 3.00	\$	1,698.30 475.80
CLASS C 0-6 6-8 8-10 10-12	296.0 566.10 158.60 50.00	@ \$ 3.00 @ \$ 3.00 @ \$ 3.50	\$	1,698.30 475.80 175.00
CLASS C 0-6 6-8 8-10 10-12 12-14	296.0 566.10 158.60 50.00 150.00	<pre>@ \$ 3.00 @ \$ 3.00 @ \$ 3.50 @ \$ 4.00</pre>	\$	1,698.30 475.80 175.00 600.00
CLASS C 0-6 6-8 8-10 10-12 12-14 14-16	296.0 566.10 158.60 50.00 150.00 823.30	<pre>@ \$ 3.00 @ \$ 3.00 @ \$ 3.50 @ \$ 4.00 @ \$ 5.00</pre>	\$	1,698.30 475.80 175.00 600.00 4,116.50
CLASS C 0-6 6-8 8-10 10-12 12-14 14-16 16-18	296.0 566.10 158.60 50.00 150.00 823.30 189.10	<pre>@ \$ 3.00 @ \$ 3.00 @ \$ 3.50 @ \$ 3.50 @ \$ 4.00 @ \$ 5.00 @ \$ 8.00</pre>	\$	1,698.30 475.80 175.00 600.00 4,116.50 1,512.80
CLASS C 0-6 6-8 8-10 10-12 12-14 14-16 16-18 18-20	296.0 566.10 158.60 50.00 150.00 823.30	<pre>@ \$ 3.00 @ \$ 3.00 @ \$ 3.50 @ \$ 4.00 @ \$ 5.00</pre>	\$	1,698.30 475.80 175.00 600.00 4,116.50
CLASS C 0-6 6-8 8-10 10-12 12-14 14-16 16-18 18-20 MANHOLE CONSTRUCTION	296.0 566.10 158.60 50.00 150.00 823.30 189.10	<pre>@ \$ 3.00 @ \$ 3.00 @ \$ 3.50 @ \$ 3.50 @ \$ 4.00 @ \$ 5.00 @ \$ 8.00</pre>	\$	1,698.30 475.80 175.00 600.00 4,116.50 1,512.80
CLASS C 0-6 6-8 8-10 10-12 12-14 14-16 16-18 18-20 <u>MANHOLE CONSTRUCTION</u> Standard Manholes	296.0 566.10 158.60 50.00 150.00 823.30 189.10 24.9	 @ \$ 3.00 @ \$ 3.00 @ \$ 3.50 @ \$ 4.00 @ \$ 5.00 @ \$ 8.00 @ \$ 10.00 	-	1,698.30 475.80 175.00 600.00 4,116.50 1,512.80 249.00
CLASS C 0-6 6-8 8-10 10-12 12-14 14-16 16-18 18-20 MANHOLE CONSTRUCTION	296.0 566.10 158.60 50.00 150.00 823.30 189.10	<pre>@ \$ 3.00 @ \$ 3.00 @ \$ 3.50 @ \$ 3.50 @ \$ 4.00 @ \$ 5.00 @ \$ 8.00</pre>	\$	1,698.30 475.80 175.00 600.00 4,116.50 1,512.80
CLASS C 0-6 6-8 8-10 10-12 12-14 14-16 16-18 18-20 <u>MANHOLE CONSTRUCTION</u> Standard Manholes	296.0 566.10 158.60 50.00 150.00 823.30 189.10 24.9	 @ \$ 3.00 @ \$ 3.00 @ \$ 3.50 @ \$ 4.00 @ \$ 5.00 @ \$ 8.00 @ \$ 10.00 	-	1,698.30 475.80 175.00 600.00 4,116.50 1,512.80 249.00
CLASS C 0-6 6-8 8-10 10-12 12-14 14-16 16-18 18-20 MANHOLE CONSTRUCTION Standard Manholes 0-6 ADD DEPTH Drop Manholes	296.0 566.10 158.60 50.00 150.00 823.30 189.10 24.9 5	<pre>@ \$ 3.00 @ \$ 3.00 @ \$ 3.50 @ \$ 4.00 @ \$ 5.00 @ \$ 5.00 @ \$ 8.00 @ \$ 10.00</pre> @ \$500.00 @ \$ 50.00	-	1,698.30 475.80 175.00 600.00 4,116.50 1,512.80 249.00 2,500.00 990.00
CLASS C O-6 6-8 8-10 10-12 12-14 14-16 16-18 18-20 <u>MANHOLE CONSTRUCTION</u> Standard Manholes O-6 ADD DEPTH Drop Manholes O-6	296.0 566.10 158.60 50.00 150.00 823.30 189.10 24.9 5 19.8 2	 @ \$ 3.00 @ \$ 3.00 @ \$ 3.50 @ \$ 4.00 @ \$ 5.00 @ \$ 5.00 @ \$ 8.00 @ \$ 10.00 @ \$ 50.00 @ \$ 50.00 @ \$ 600.00 	-	1,698.30 475.80 175.00 600.00 4,116.50 1,512.80 249.00 2,500.00 990.00
CLASS C 0-6 6-8 8-10 10-12 12-14 14-16 16-18 18-20 <u>MANHOLE CONSTRUCTION</u> Standard Manholes 0-6 ADD DEPTH Drop Manholes 0-6 Add Depth	296.0 566.10 158.60 50.00 150.00 823.30 189.10 24.9 5 19.8 2 12.4	<pre>@ \$ 3.00 @ \$ 3.00 @ \$ 3.50 @ \$ 4.00 @ \$ 5.00 @ \$ 5.00 @ \$ 8.00 @ \$ 10.00</pre> @ \$500.00 @ \$ 50.00	-	1,698.30 475.80 175.00 600.00 4,116.50 1,512.80 249.00 2,500.00 990.00
CLASS C O-6 6-8 8-10 10-12 12-14 14-16 16-18 18-20 <u>MANHOLE CONSTRUCTION</u> Standard Manholes O-6 ADD DEPTH Drop Manholes O-6	296.0 566.10 158.60 50.00 150.00 823.30 189.10 24.9 5 19.8 2 12.4	 @ \$ 3.00 @ \$ 3.00 @ \$ 3.50 @ \$ 4.00 @ \$ 5.00 @ \$ 5.00 @ \$ 8.00 @ \$ 10.00 @ \$ 50.00 @ \$ 50.00 @ \$ 600.00 	-	1,698.30 475.80 175.00 600.00 4,116.50 1,512.80 249.00 2,500.00 990.00
CLASS C 0-6 6-8 8-10 10-12 12-14 14-16 16-18 18-20 <u>MANHOLE CONSTRUCTION</u> Standard Manholes 0-6 ADD DEPTH Drop Manholes 0-6 Add Depth	296.0 566.10 158.60 50.00 150.00 823.30 189.10 24.9 5 19.8 2 12.4	 @ \$ 3.00 @ \$ 3.00 @ \$ 3.50 @ \$ 4.00 @ \$ 5.00 @ \$ 5.00 @ \$ 8.00 @ \$ 10.00 @ \$ 50.00 @ \$ 50.00 @ \$ 600.00 	-	1,698.30 475.80 175.00 600.00 4,116.50 1,512.80 249.00 2,500.00 990.00

3œ

ي، ۋ